[ Efficiency vs vertpos |

= 0.1
e AR SUTEIRR SRR
o F
2008 -+ eeeedre b
2 E
_50.07:— """""""""""""""""""""""""

L
£0.06
0.05
0.04
0.03
0.02
0.01

...........................................

-] - |- -

10 1 10 0?
TP vertr (cr%)

— DQV ariginal s[epZ tiar-p asel-newgeom

M_pixelCPETemplate_step2_ttbar-phasel-newgeom

—— DQ
ici —— DQM_pixelCPETemplateCutChiSquareNew_step2_tthar-phasel-newgeom
Efficiend —+— DOM_pixelCPETemplateCutChiSquareNew?2_step2_ttbar-phasel-newgeom

~n0.02r

9.018
[2]
2.016
&
9014
‘©
9.012
()

0.01E

0.008
0.006
0.004
0.002

30 =20 =10 10 20 30

TP vert z (cm)

[Effici

ency vs.simPVz |

~0.02
>
00.018

Ho16

9.014
>

B.012F
Q

o L
£ 0.01F
[J]

0.008
0.006
0.004
0.002

L L I LA ILLELN L LN R

4 20 2 4 6 810
Sim. PV z (cm)



	Contents
	Page 1


